CaamMpPIoN
Power & force

Mﬂl’IIOCTpVIpOBaHHbIH KaTanor 3anacHbIX YacTem

Mogenb: T517

Ne ApTuKyn HanmeHoBaHue K-Bo Ne ApTUKYN HavmeHoBaHue K-80
1 02050070030 Craprep B cbope 1 34 02050030118 MarHeTo 1
2 02050120002 PunbTp TONAUBHBIN 1 35 02080020012 3arnywka 1
3 61270010013 LUnaHr TONAMBHBbIN 1 36 03040050048 LWaiba cuenneHus B 2
4 02080020087 AmopTn3aTtop b6aKa 1 37 02050160006 CuenneHune 1
5 61270010018 LLnaHr nparimepa 1 38 03040050043 LWainba 2
6 03020020027 BUHT 5x16 2 39 02020130003 BonT cuennenua 2
7 70050030073 BaK TonAuBHbIN 1 40 80010020071/ KpblwWwKa cuenneHuns 1

70070030022

8 02110020026 MNpo6ka TonnusHoro 6aka 1 41 03050030014 bont M5x25 4
9 03020020012 BuHT M5x20 6 42 03090020022 MoAWKWNHKK nanbua 1
10 02020160439 3awumTa 6aka 1 43 02020030014 Konbuo cronopHoe 2
11 02080020087 AmopTu3aTop 6aka 1 44 02010020012 MNMoplweHb 1
12 02010030018 Mpoknagka cTaptepa 1 45 02020010009 Manew nopwHsA 1
13 03030010017 Faitka M 8*1.25 1 46 03020020053 Bont M5x12 2
14 70030040012 Onopa dpunbTpa 1 47 02020020008 Konbuo nopwHa 2
15 02020160533 Mnata onopsbl 1 48 02070010037 MpoKnagKa umnnHapa 1
16 03020020044 Bont M5x55 2 49 70070130019 Unnnnpp 1
17 02090010044 DuUNbTP BO3AYLLHBIN 1 50 03010010062 BuHT M5x20 4
18 03100010009 CanbHUK K/Bana 1 51 70030030694/ Kpbiwka unnmHapa 1

70030030371

19 70070050054 KapTep cTopoHa cTtaptepa 1 52 L7T Cseyva 1
20 02070010124 Mpoknagka KapTepa 1 53 02070010165 Mpoknagka raywutens 1
21 03090010016 MoawwnnHuk 6202/P5 2 54 02050010040 Tnywurens 1




CaamMpPIoN

Power & force NnntocTpmpoBaHHbIN KaTanor 3anacHbIX YacTem Mogenb: T517
22 02020120084 Konensan 1 55 03010010036 BonT KpenneHua raywmTena
23 03070010002 LnoHka 3x13 1 56 02110030079 BoAnT KpenneHus KpbiwKu GunbTpa
24 03060010004 WtndT B4x10 4 57 02070010086 MpoKnagKa nog Tenson3onaTop
25 02070020046 Mpoknaaka 6aka 2 58 70030020015 Tennousonartop
26 70070050055 KapTep cTopoHa maxoBuKa 1 59 03020020034 Bont M5X 25
27 03040020020 LWaiba GB97 5 4 60 02070010073 Mpoknagka noa Kapbropatop
28 03050010015 LWaiba npyXunHHas 4 61 02050020020 Kap6topaTop
29 03010010046 BuHT 4 62 70030040107 Kpblwka Bo3aywHoro punbTpa
30 03100010024 CanbHuk 15x30x7 1 63 03040020015 LWaiiba
31 02050030073 MaxoBsuk 1 64 03050010012 Waiba
32 03030050010 laitka M8 1 65 02060050021 MopweHb KomnaeKT
33 02050050181 MpoBog, BbIKAIOYEHMA 3aXKUTaHUA 1 66 02060050022 MopwHesas rpynna




CaamMpPIoN

Power & force

Mﬂl’IIOCTpVIpOBaHHbIH KaTanor 3anacHbIX YacTem

Mogenb: T517

67
Ne ApTUKYA HaumeHoBaHMe K-so | Ne ApTURYN HavmeHoBaHMe K-so
1 61270030006 PepykTtop 1 41 03010040037 BuHT 2.9X10 1
2 03120020002 Konbuo ctonopHoe 26 1 42 70030070423 KHonka cTonopa 1
3 03120010001 Konbuo 10 1 43 02020110044 MpykunHa 1
4 03090010015 MoawwnnHuk 6000-2RS/P5 2 44 70030070092 Wrner 1
5 02020090063 Ban-wecrepHa 1 45 70030070421 Pbivar rasa 1
6 03020030014 BuHT M5X25 1 46 02020110028 MpyxunHa 1
7 03020030021 Bont M6X12 2 47 70030070167 PykoATKa ynpasneHusa, npasas 1
nonosuHa
8 80010040019 Kopnyc peaykTopa 1 48 03010040029 BuHT 2.9X18 2
9 02020160080 Yauwka 1 49 03010010064 BuHT M5*27 1
10 03020020018 BuHT M5X12 4 50 02050040048 Tpoc rasa 1
11 03090010013 MoawwnnHuk 6000/P5 1 51 03030010004 alika M6 2
12 02020090012 LWecTepHsa 1 52 61350020001 O6os10uKa Tpoca rasa 1
13 02020090029 Ban BbixogHoOM 1 53 02050050296 BbikntoyaTennb 1
14 03090010058 MNoawunHuk 6002-2RS/P5 1 54 70030070422 CTONOPHbIN pblyar 1
15 03120020001 Konbuo cronopHoe 32 1 55 02020110029 Mpy*xunHa 1
16 02020100020 Laiba peaykTopa 1 56 70030070219 PykoaTKa ynpasneHus, nesas 1
nonosuHa
17 02020100012 Llaiiba Hoxka 1 57 03030060008 laika M5 1
18 03040050014 Wawba 10 1 58 80010050106 KpblwKa KpoHLwTenHa 1




CaamMpPIoN

Power & force NnntocTpmpoBaHHbIN KaTanor 3anacHbIX YacTem Mogenb: T517
19 03030010008 lalika M10X1.25L 1 59 02020160512 PykoaTtka TpybuaTan npasas 1
20 03060020004 WnanHT 2X16 2 60 02080020123 HabangawHuk pyKoaTku 1
21 61270020002 Bapa6aH cuensieHus c KOprnycom 1 61 02020160462 PyKosTKa TpybuaTas npasas
22 02020050026 BapabaH cuenneHus 1 62 80010050059 KpoHwTeliH cpegHuit
23 03120020004 Konbuo ctonopHoe 35 1 63 80010050078 KpOHWTEWH HUKHMIA
24 03090010057 MoawwunHmk 6202-2RS/P5 1 64 02110030022 XomyT
25 03120010005 Konbuo ctonopHoe 15 1 65 C4003 PemeHb HanieyHbIn
26 80010030075 Kopnyc cuennenus 1 66 02060040165 Hox
27 02080020069 AMOPTMU3ATOP LITAHTM 1 67 02110030004 KoKyx HoKa
28 03010010058 BuHT M5X25 8 68 02050220013 TprMMMepHan ronosKa
29 80010050068 Ckoba B 1 69 03030010013 laiika M5
30 80010050049 Ckoba A 1 70 03010010056 BuHT M5*14
31 03010010060 BuHT M6X20 4 71 70030030962 KpoHuiTteitH
32 70030180133 Ckoba noaseca pemHs 1 72 03010010062 BuHT M5%*20
33 70030160007 dukcaTop ckobbl 1 73 61270070072 Koxyx(komnnekr)
34 03040030002 LWatiba 5 1 74 70030030691 Koxyx
35 03010060053 BuHT M5X20 1 75 02010030001 MNpoknaaka
36 02010010091 LtaHra (26*1.5*1500) 1 76 03010110124 Bont M5x20
37 02020060017 Ban (1534mm) 1 77 70030030056 dapTyK KoXyxa
38 02040010003 BTynka Bana (8*%14*14) 6 78 03010040074 BuHT
39 02080020006 YNnoTHeHWe BTYNKM Bana 6 79 03010040025 BuHT
40 70080080136 PyKoOATKa ynpaB/ieHUA KOMNIEKT 1 80 02020070102 Hox obpeskun necku




